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def fact(n):
result=1
while n>0:
result = result * n
n=n-1
print(result)

fact(5)
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def prt():

for i in range(3):
print(‘computer jagat’)
prtQ)
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>>>

computer jagat

computer jagat

computer jagat
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def div(a, b= 10):
print(a/b)
div (15, 4)
div (15)
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3.75
1.5
>>>
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def parrot(voltage, state="a
stiff”’, action="voom’,
type="Norwegian Blue’):
print(“— This parrot
wouldn’t”, action, end=" )
print(“if you put”, volt-
age, “volts through it.”)
print(“— Lovely
plumage, the”, type)
print(‘ —It’ ”, state, “1”)
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parrot(1000) # QT AT
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parrot(voltage=1000)  #
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parrot(voltage=1000000,
action="VOOOOOM’) # @<t
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parrot(action="VOOOOOM’,
voltage=1000000) # @M
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parrot(‘a million’, ‘bereft of
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parrot(‘a thousand’,
state="pushing up the daisies’)
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parrot(voltage=5.0, ‘dead’)
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parrot(110, voltage=220) #
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parrot(actor="John Cleese’)
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def function(*names,
**types):
for name in names:
print(name,end=" )
print()
keys =
sorted(types.keys())
for key in keys:
print(key,”
“types[key])
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function(‘cat’,’dog’, horse’
,cat="kitty’ ,
dog="max’,horse=’star”)
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>>>
cat dog horse
cat : kitty
dog : max
horse : star
>>>
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def concat(*args, sep="/"):

return sep.join(args)
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print(concat(‘a’,’b’,’c’))

print(concat(‘a’,’b’,’c’,sep
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>>>

a/b/c

a-b-c
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>>> args = [3, 6]

>>> list(range(*args))

(3,4,5

>>>
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def function():

“**“do nothing, but docu-

ment it.
it really dose nothing
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pass
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print(function. _doc_ )
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>>>

do nothing, but document it.

it really dose nothing
>>>
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